

			Vendor	Ranking		Page 1 of 1
Letting:	01200319	March 19, 2020 11:00 AM	Call Order	: 008	Contract:	E1T59-R0
District:	District 1		Counties:	DIST/ST-WIDE, POLK	Fed Aid No	: N/A
Contract Time:	365 AVAILA	BLE DAYS			Project(s):	43272717287 (*)
Contract Desc:	Miscellaneo	us Concrete in Polk County				

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$462,713.51	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

REJECT ALL BIDS



04/02/2020

Page 1 of 7

Tabulation of Bids

 Letting:
 01200319
 March 19, 2020
 Call Order:
 008
 Contract:
 E1T59-R0

 District:
 District 1
 Counties:
 DIST/ST-WIDE, POLK
 Fed Aid No:
 N/A

 Contract Time:
 365 AVAILABLE DAYS
 Fed Aid No:
 N/A

Contract Descr: Miscellaneous Concrete in Polk County

The work under this Contract consists of Miscellaneous Concrete in Polk County.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAN CONSULTING	OF FLORIDA				
() indicates item is bid as Lump Sum		LLO Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ASF	PHALT REP	AIR (MANUAL) (T	N)				
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	2.000 Г TN	483.00000	966.00				
0010 0353 70 CONCRETE PAVEMENT SLAB REPLACEMENT	175.000 CY	861.00000	150,675.00				
0015 0425 15 41 INLET TOP, REPAIR, CURB INLET	2.000 EA	2,360.00000	4,720.00				
0020 0425 15 42 INLET TOP, REPAIR, DITCH BOTTOM INLET	2.000 EA	2,360.00000	4,720.00				
0025 0425 15 51 INLET TOP, REPLACE, CURB INLET	2.000 EA	9,360.00000	18,720.00				
0030 0425 15 52 INLET TOP, REPLACE, DITCH BOTTOM INLET	2.000 EA	9,360.00000	18,720.00				
0035 0430175115 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 15"S/CD	25.000 LF	212.00000	5,300.00				



Page 2 of 7

Letting: 0120	00319 Ma	arch 19, 2020	Cal	l Order: 008		Contract:	E1T59-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA				
() indicates item is bid a	s Lump Sum	••••••	LL Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001 A	SPHALT REPA	AIR (MANUAL) (T	N)				
0040 0430175118 PIPE CULVERT,OPTION MATERIAL,ROUND, 18"S		50.000 LF	165.00000	8,250.00				
0045 0430175124 PIPE CULVERT,OPTION MATERIAL,ROUND, 24"S		50.000 LF	195.00000	9,750.00				
0050 0430175130 PIPE CULVERT, OPT MA ROUND, 30"S/CD	ATERIAL,	20.000 LF	331.00000	6,620.00				
0055 0430175136 PIPE CULVERT, OPT MA ROUND, 36"S/CD	ATERIAL,	20.000 LF	391.00000	7,820.00				
0060 0430175140 PIPE CULVERT, OPT MA ROUND, 40"S/CD	ATERIAL,	20.000 LF	491.00000	9,820.00				
0065 0430175142 PIPE CULVERT, OPT MA ROUND, 42"S/CD	ATERIAL,	15.000 LF	625.00000	9,375.00				
0070 0430175148 PIPE CULVERT, OPT MA ROUND, 48"S/CD	ATERIAL,	15.000 LF	665.00000	9,975.00				
0075 0430175154 PIPE CULVERT, OPT MA ROUND, 54"S/CD	ATERIAL,	15.000 LF	865.00000	12,975.00				
0080 0430175160 PIPE CULVERT, OPT MA ROUND, 60"S/CD	ATERIAL,	15.000 LF	1,000.00000	15,000.00				



Page 3 of 7

Letting: 012003	319 Mare	ch 19, 2020	Cal	Order: 008		Contract:	E1T59-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) ROGAR MAN CONSULTING					
() indicates item is bid as L	ump Sum		LLO Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	1 ASF	PHALT REPA	AIR (MANUAL) (T	N)				
0085 0430963 1 PVC PIPE FOR BACK OF S	SIDEWALK, 4"	5.000 LF	45.00000	225.00				
0090 0430982123 MITERED END SECTION, (ROUND, 15" CD	OPTIONAL	1.000 EA	1,360.00000	1,360.00				
0095 0430982125 MITERED END SECTION, (ROUND, 18" CD	OPTIONAL	1.000 EA	1,460.00000	1,460.00				
0100 0430982129 MITERED END SECTION, (ROUND, 24" CD	OPTIONAL	2.000 EA	1,760.00000	3,520.00				
0105 0430982133 MITERED END SECTION, (ROUND, 30" CD	OPTIONAL	2.000 EA	2,760.00000	5,520.00				
0110 0430982138 MITERED END SECTION, (ROUND, 36" CD	OPTIONAL	5.000 EA	4,660.00000	23,300.00				
0115 0430982140 MITERED END SECTION, (ROUND, 42" CD	OPTIONAL	2.000 EA	4,860.00000	9,720.00				
0120 0430982141 MITERED END SECTION, (ROUND, 48" CD	OPTIONAL	1.000 EA	4,860.00000	4,860.00				
0125 0430982142 MITERED END SECTION, (ROUND, 54" CD	OPTIONAL	1.000 EA	5,260.00000	5,260.00				



Page 4 of 7

Letting:	01200319 Ma	arch 19, 2020	Cal	l Order: 008		Contract:	E1T59-R0	
Line No / Item I Item Descriptio		Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA				
() indicates item is	s bid as Lump Sum		LLO Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	l: 0001 AS	SPHALT REP	AIR (MANUAL) (T	N)				
0130 04309821 MITERED END SE ROUND, 60" CD		1.000 EA	7,260.00000	7,260.00				
0135 0520 1 7 CONCRETE CURB	& GUTTER, TYPE E	150.000 E LF	45.00000	6,750.00				
0140 0520 1 10 CONCRETE CURB) & GUTTER, TYPE F	100.000 - LF	49.00000	4,900.00				
0145 0520 2 2 CONCRETE CURB	, TYPE B	100.000 LF	49.00000	4,900.00				
0150 0520 6 SHOULDER GUTT	ER- CONCRETE	50.000 LF	69.00000	3,450.00				
0155 0520 70 CONCRETE TRAF SPECIAL- VARIAB		50.000 SY	314.00000	15,700.00				
0160 0522 1 CONCRETE SIDEV DRIVEWAYS, 4" TH		150.000 SY	71.00000	10,650.00				
0165 0522 2 CONCRETE SIDEV DRIVEWAYS, 6" TH		150.000 SY	71.00000	10,650.00				
0170 0524 1 2 CONCRETE DITCH REINFORCED, 4"	I PAVEMENT, NON	150.000 SY	100.00000	15,000.00				



Page 5 of 7

Letting: 01200319 Mar	ch 19, 2020	Call C	Order: 008		Contract:	E1T59-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MANA CONSULTING O					
() indicates item is bid as Lump Sum	Units	LLC Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 AS	PHALT REP	AIR (MANUAL) (TN))		1		
0175 0524 1 4 CONCRETE DITCH PAVEMENT, NON REINFORCED, 6"	150.000 SY	100.00000	15,000.00				
0180 0524 1 29 CONCRETE DITCH PAVEMENT, 4", REINFORCED	20.000 SY	100.00000	2,000.00				
0185 0524 1 49 CONCRETE DITCH PAVEMENT, 6", REINFORCED	10.000 SY	100.00000	1,000.00				
0190 0524 2 2 CONCRETE SLOPE PAVEMENT,NON REINFORCED, 4"	10.000 SY	100.00000	1,000.00				
0195 0524 2 4 CONCRETE SLOPE PAVEMENT,NON REINFORCED, 6"	20.000 SY	100.00000	2,000.00				
0200 0527 2 DETECTABLE WARNINGS	20.000 SF	100.00000	2,000.00				
0205 E110 70 REMOVAL OF FLEXIBLE PAVEMENT	10.000 SY	100.00000	1,000.00				
0210 E425 73 3 FRAME AND GRATE (F&I)	1.000 EA	2,260.00000	2,260.00				
0215 E425 73 4 RESET EXISTING FRAME AND GRATE	1.000 EA	860.00000	860.00				



Page 6 of 7

Lettin	g: 01200319	March 19, 2020	Call	Order: 008		Contract:	E1T59-R0	
	No / Item ID Alt	ernate Quantity Units	(1) ROGAR MAN CONSULTING	OF FLORIDA				
() in	dicates item is bid as Lump	o Sum	LLC Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	ASPHALT REP	AIR (MANUAL) (TI	N)				
0220 MANHO	E425 73 7 DLE FRAME & COVER	1.000 EA	1,500.00000	1,500.00				
0225 MANHO	E425 73 8 DLE COVER	1.000 EA	800.00000	800.00				
0230 FERTIL	E570 5 IZER	1.000 TN	2,000.00000	2,000.00				
0235 WATEF	E570 9 1 R FOR GRASS & PLANT	1.000 TS MG	0.01000	0.01				
0240 SODDI	E575 1 NG	250.000 SY	13.61000	3,402.50				
	0001 ASPHALT REP/ (MANUAL) (\$462,713.51				

Contract Grand Totals:

\$462,713.51



			Tabulation of Bids			Page 7 of 7
Letting:	01200319	March 19, 2020	Call Order: 008	Contract:	E1T59-R0	
			e to file a protest within the time pres			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.